SAP ABAP table CONVAL {Consumed Values (BCS)}

CONVAL-FIPEX = FMCI-GJAHR

_O-N

FMCI
MANDT [CLNT (3)]
FIKRS [CHAR (4)]
GJAHR [NUMC (4)]
FIPEX [CHAR (24)]

FMFCTR
MANDT [CLNT (3)]
FIKRS [CHAR (4)]
FICTR [CHAR (16)]
DATBIS [DATS (8)]

FMFINCODE

MANDT [CLNT (3)]

" CONVAL-FONDS = FMFINCODE-FINCODE

FIKRS [CHAR (4)]

FINCODE [CHAR (10)]

YRR 0L
- CONVAL-FWAER = TCURC-WAERS
CONVAL-TWAER = TCURC-WAERS  0.N
oo C 0.N
CONVAL-FAREA = TFKB-FKBER
. CONVAL-BUSA = TGSB-GSBER ~_ O.N
______ 0-N

TCURC
MANDT [CLNT (3)]
WAERS [CUKY (5)]

TFKB

MANDT [CLNT (3)]
FKBER [CHAR (16)]

TGSB
MANDT [CLNT (3)]
GSBER [CHAR (4)]




